1.

ohe e ofste] the 3 874 ¢

AL

rlo

oS

© ® © 0 ©
o,
= O Q W >
rlr
i)
r>~
)
Ib
rOlv
)



2.

th& 1™old AM =MN =NB € 1, th& &

2] g2 A9
P O N
- w v o
A M N B
O AB =3NB
@ AM

— 1
@ MN = —-MB
1

3 MB = 2AM
® AN = 2MN



2N 1 m Y W, $A o

O
=

=

3.

\a

A\

1 7 m & A
@ H A=A 191l it

24

5
T
R Cl
NS
ol ol
s X
T
~ONXT
of o
HB HB
= 1=
©® @

AB ¢} A A i o] o]t}

>

)
T

® AB



4.t "M b o S A7 = A2 27

@D 95° @ 100° 3 105° @ 110° B 120°



ot 1")A A& AC//DE, DC//EF
o]31, AB = AC = CD °|t}. /DAC =x 2}
st o, /DEF = 180° —y o]t}. y& I35}

H? B

D x @ 2x ® 3x @ 4x ® 5x



